Table 1: Properties of the Continuous-Time Fourier Transform
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Differentiation in Frequency t"x(t) J" o X (w)




Table 2: Basic Continuous-Time Fourier Transform Pairs
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Table 3: Properties of the Laplace Transform X (s) = [~ z(t)e* dt
Property Signal Transform
Linearity az (t) + bxa(t) aXi(s) + bXs(s)
Time shifting x(t — to) e st X (s)
Shifting in the s-Domain esoty(t) X (s — s0)
. . 1 s
Time scaling x(at) —X (7)
la| " \a
Conjugation x*(t) X*(s*)
Convolution x1(t) * z2(t) X1(8)X32(s)
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Differentiation in the Time Domain %m(t) s"X (s) = >op_, sFLa(n=R)(0)
d?’L
Differentiation in the s-Domain t"ax(t) (—1)"@)((5)
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1
Integration in the Time Domain / x(7)d(7) -X(s)
oo s




Table 4: Laplace Transforms of Elementary Functions
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